Anti Wave Junior Folding Floating Goal for Flippa Ball

2000
Position a: Play
\\ o
o
N~
I | | =11
Position b: Folded
o
o
N
i
\&/r [2n. s ] 1 - Y
< 2760 -
™ Project Name: Product Name: :
R omenernconoons Jurior Folding Surior Folding | PIOISct No- AWE00450 Product No.. 01
I s the sol property of ANTI WAVE, Floating Goal Floating Goal |Drawn Date|2007-04-26|Verify Date
}m\XE*}T“VL‘:\?E”“{;“;ZE?&TQZ_“°"°f Drawn| Philip | Scale | No |Patents| 2001285610;7100219;4048677;01818714.5 &2003/2920 e.g.




Step 1 Step 2

Top Corner

Junior Folding Floating Goal for Flippa Ball

General Sketch No| Name Qty g
1 23 Front frame 1 N~
a
. X2 ﬂx2
él:gm?éum Heart | @X4 fx4 @

Open the Parts Bag, take out Slide Blocks and Insert the SS Sticks of SS Hinge to the holes
Plastic Tube 2 |Eyelets, Slide them as above from top corner of | of the Front Frame, use small Slide Blocks, M8

Front Frame, then use Big Slide Block, Washer | Lock Nuts and Washers to fix the SS Hinge
and Lock Nut to fix the Heart casting to Front to the Frant Frame.Note that the bolts crewed

i
(!

|
J
‘f

o

0

=
SS
SN SoooS S

=SS =<
an

“

SO
——

\ iii~
N
NIRRT
N SS Hi \
E EEEE nae 2 |Frame . not tight.
O Step 4
A ig:: Small GRP Float | 2
AN\
Aluminium Back 1
Tube
White Rope 1
———— —

ORICHICRECARCIECRECHEC)

Red Net 1

SS Hinge 2

Big M8x30 Slide Insert the Plastic Tube into the Alu plate of the

Block 4 [Heart Casting, use M8x55 Countersunk Bolts, |Use the M8x40 Round Head Bolts, Washers and
Washers and Lock Nuts to fix the Plastic TubgLock Nuts to fix the Small GRP Floats to the
@ Small M8x30 to the Front Frame. Back Tube.
Slide Block 4 Step 5
p Step 6
@ Eyelets 13
11 12 M8x30 Round
@ Head Bolt 4
M8X55 2

Countersunk Bolt

M8 Lock Nutand | 2q
Washer

®

] Ot b
<~ M8 Eye Bolt 4 | Take off the Foams in the front of GRP Floats,
.— use M8x30 Round Head Bolts, Washers and Use White Rope to fix the Red Net to the Alu
Lock Nuts to fix the Floats to the Front Frame. Eyelets and SS Saddles of GRP Floats, lace it
Donot forget to fix the Foams again. around the Back Tube.
N Project Name: Product Name: .
- f——— Junior Folding Junior Folding (ProJ2CL No- AWE00450 Product No._02
is the sole property of ANTI WAVE, F|Oatlng Goal F|Oatlng G0a| DraWn Date 2007'04‘26 Ve“fy Date
any reproduction in part or as a whole
OANTI WAVE 2007 ] /1out ihe writen permission of Drawn| Philip | Scale | No |Patents | 2001285610; 7100219; 4048677; 01818714.5 & 2003/2920 e.g.






